\v/

IS
n\/eﬂt | HOFFMAN We connect and protect

Syspend 180-Max 7] & fE{t

Bl EE 4 BFE Syspend 180 MAX RZEAMERE

1D BiAITER
1 MFskF

1 MBEEHF

2 flat small gaskets

4 M6 allen head screws

4 M6 lock washers

12 M10 headless set screws
6 M12 headless set screws

.5 meters of 3mm cord gasket



RASEK

Table 1/1
MES TR s HRiER B
S1IMRHK
32858 No
B A
= A

RANIRIE nVent B9~ iR BB SIZIMEI ZEFHHE A nVent B9 &e B4R www.nvent.com SREUZBEH, EBER nVent
BERAKREN, BT, FAFAYH. HHAERERSIEST nVent
FIRBASEEE, BIRERIEAT M E. Wik, TEMABHE AT/ EFRRIERS T

\/
HIRANmEAS:

nvent CADDY ERICO HOFFMAN ILSCO SCHROFF TRACHTE

©2025 nVent, i nVent iR &M EHTIIE nVent Services GmbH HEMB ABME RN FIBEMBERYAERBMEENM~, nVent
REBHMBEHIF, BRBTEH.

X RGEE R nVent.com/HOFFMAN | 2



https://origin-nvent.nvent.com/zh-hk/hoffman/products/encs1mrhk
https://www.nvent.com/hoffman
https://www.nvent.com/hoffman

